EARVAD RPN SE L S S
APrelr 52 25 SRR 2 BRI BRI S SO R K AR

1055 —F B ERBE BEfr T
- &BUWA AHZH

sTEATE 105/1/16%%8 e P pe= o — = E o 105/3/3188%8
B e R PR SR K 481,750 481,750
FTOF ~ FOEMeEE 287,550 287,550
FOBREIST) # S 3,847,163 1050224 | B e 9,200 3.747323

1050224 | B5fat 7,230

1050224 | WEZEREM - B BE E0H 3,750

1050224 | WEZEREM -BIRE IS 4,463

1050224 | B ZEREM R ek aS 3,550

1050224 | WEZEREM -myRIOAHETT 4,095

1050307 | WEZE -/ ENSL 800

1050307 | WEZEH-A Hlsi L 2= 5,250

1050322 | WEZEREM BEJIBHES 6,080

1050321 | WEsEEFEE STt 6,300

1050307 | WZEREM Ay A 7,080

1050322 | WISEREM BT B 7,400

1050322 | WZEHSSGR RIS 8,072

1050324 | WZEHERFIEE: 8,720

1050307 | WZEREM-EH S 8,820

1050310 | BFiaE 9,030
HO BB R b7 EEk 3,374,662 3,374,662
BOBHFRE 1,000,000 1,000,000
O SRR X 602,070 602,070
O HFZE SRR 100,000 100,000
ORERIFREER 1,200,000 1,200,000
FFOESR RS B 3,000,000 1050328 | $E=imEAGT 5,750 2,976,250

1050328 | - fm BR RS 18,000
HOTHREIEE 9,000,000 1050222 | {EBEB1 FIERR#AE 529,224 8,470,776
BB A E K 185,426 185,426
FHOBIFREZ 65,000 65,000
ZOMHWIZEEK 500,000 500,000
T OIS BEFR IR B K 50,000 50,000
J\ILIEE SR B R A 75 B K 120,000 120,000
TFOB SRR EH 100,000 100,000
RO P BB T A 100,000 100,000
T O B FRIREEH 60,000 60,000
EEEFELER-THOBCHN) 6,000 6,000
FOHEEFIREHX 1050219 |2 i Bk 50,000 1051107086 50,000
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EARVAD RPN SE S S
APrelr 52 25 SRR 2 BRI B R A S SO R K AR

1055 —F B ERBE BEfr T
HELTE 105/1/18%%8 S %;&A e pr— e Z;fgitﬂ pe= 105/3/3183%8
BE KR AR % B e s B S K 1050219 |2 SRR % BRI <& 100,000 1051107074|1050311 | & —4&li/KEE 5,035 2,151,453
1050302 |02067E $5 B FRAR 75 20,000 1051107215|1050311 | BEBEE 0 5,343
1050323 |02067E S5k BEAHRBHER 21,600 1051107670]1050311 | F&Ek 6,739
1050302 |02067E S5 B FRAR 75 30,000 1051107214|1050311 | A2 {EBERE IS 9,530
1050318 02064 S B AR S HEEN 50,000 1051107588|1050328 | {EBE3FEE S = 8E 30,000
1050308 [02067E S50 FH B 66,500 1051107455[1050328 | {E:Bel-4HHHiEaEEE(E 80,000
1050302 |02067E S BRI 15 1,000,000 1051107287
1050311 |02067E SRR 15 1,000,000 1051107527
f=x11 24,079,621 WAEE 2,338,100 &R 789,461 25,628,260
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